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ΘΕΜΑ Α 

Α1. α. Λ, β. Σ, γ. Σ, δ. Σ, ε. Λ 

Α2. 1. β, 2. δ, 3. στ, 4. ε, 5. α 

ΘΕΜΑ Β 

Β1. ΚΕΦ. 6 6.2.2 5 από α),β),γ),δ),ε),στ) και ζ) 
Β2. ΚΕΦ. 6 6.5.5 5 από α),β),γ),δ),ε),στ) και ζ) 
 

ΘΕΜΑ  Γ 

Γ1. ΚΕΦ. 6 6.12 (ΣΧ Β ΣΕΛ 294) Τα υγρά που συγκεντρώνονται 

στους συλλέκτες…..λέβητα  

Γ2. Ε=pi*F*l→1000=pi*0,5*100→1000=pi*50→pi=1000/50=20bar 

pe=pi-pr→18=20-pr→pr=20-18=2bar 

 

ΘΕΜΑ Δ 

Δ1. α) Md=Ne/ω→4000*103=Ne/10→Ne=4000*10*103=40000KW 

β) sfc=m’β/Ne→1/20000=mβ/40000→mβ=40000/20000=2kg/s 

Δ2. 200000kg/(24*3600)s=200000kg/86400s=2000kg/864s 

≈2,13kg/s άρα επαρκεί οριακά  

 


